RESOLUTION R 77-16

A RESOLUTION AUTHORIZING A CHANGE ORDER INVOLVING A DECREASE IN THE DOLLAR AMOUNT OF THE CONTRACT OF \$10,000 OR MORE

WHEREAS, pursuant to Illinois Compiled Statutes, Chapter 720, Section 5/33E-9, units of local government are required to make specific findings prior to authorizing any change order relative to a contract which would increase or decrease the dollar amount of the contract by \$10,000 or more, or would extend or shorten the time in which the contract is to be completed by thirty days or more; and

WHEREAS, staff has presented and recommended the proposed Change Order No. 1 to the contract between the Village of Lombard and Strada Construction Co. regarding the FY2016 Driveway Apron, Curb & Sidewalk Restoration Program, as attached hereto as Exhibit "A" and made part hereof, to the Corporate Authorities of the Village of Lombard; and

WHEREAS, said change order attached hereto as Exhibit "A" would decrease the dollar amount of the contract by \$24,124.44.

NOW, THEREFORE, BE IT RESOLVED BY THE PRESIDENT AND BOARD OF TRUSTEES OF THE VILLAGE OF LOMBARD, DU PAGE COUNTY, ILLINOIS, as follows:

SECTION 1: That after reviewing the explanation of staff as to the necessity of and reasons for the change order attached hereto as Exhibit "A", the President and Board of Trustees find as follows:

That it is in the best interests of the Village of Lombard to approve the change order in its proposed form.

SECTION 2: That having made the findings set forth in Section 1 above, the President and Board of Trustees hereby approve the change order attached hereto as Exhibit "A", and direct and authorize the Village President and Village Clerk to execute said change order on behalf of the Village.

Adopted this 15th day of December, 2016.

Ayes: Trustee Whittington, Fugiel, Foltyniewicz, Johnston, Pike and Ware

Nays: None

Absent: None

Resolution R 77-16 Change Order Strada Construction Page 2

Approved this 15th day of December, 2016.

Keith T. Giagnorio Village President

ATTEST:

Village Clerk

VILLAGE OF LOMBARD CHANGE ORDER

PROJECT NO.: LOCATION: Various CONTRACTOR: Strada Construction Co. DESCRIPTION OF CHANGE ORDER: This change order is for the final balance or the strada construction Co. ORIGINAL CONTRACT BUDGET AMOUNT: TOTAL OF PREVIOUS AUTHORIZED CHANGE ORDERS: CURRENT CONTRACT AMOUNT: ([1]+[2]) PROPOSED CHANGE ORDER: (PENDING APPROVAL) PROPOSED REVISED CONTRACT AMOUNT: (PENDING APPROVAL) ([3]+[4]) NET OF ALL CHANGE ORDERS: (PENDING APPROVAL) ([2]+[4]) (\$24,124. TIME EXTENSION OR REDUCTION: N/A TOTAL CONTRACT TIME: (PENDING APPROVAL) N/A BUDGET ESTIMATE: \$225,000.	[1] - [2] - [3] - [4] - [5]	1 and Final 11/23/2016 quantities. \$225,000.00 \$0.00 \$225,000.00 (\$24,124.44) \$200,875.56
DESCRIPTION OF CHANGE ORDER: This change order is for the final balance ORIGINAL CONTRACT BUDGET AMOUNT: TOTAL OF PREVIOUS AUTHORIZED CHANGE ORDERS: CURRENT CONTRACT AMOUNT: ([1]+[2]) PROPOSED CHANGE ORDER: (PENDING APPROVAL) PROPOSED REVISED CONTRACT AMOUNT: (PENDING APPROVAL) ([3]+[4]) NET OF ALL CHANGE ORDERS: (PENDING APPROVAL) ([2]+[4]) (\$24,124. TIME EXTENSION OR REDUCTION: TOTAL CONTRACT TIME: (PENDING APPROVAL) BUDGET ESTIMATE: \$225,000.	[1]	11/23/2016 quantities. \$225,000.00 \$0.00 \$225,000.00 (\$24,124.44)
ORIGINAL CONTRACT BUDGET AMOUNT: TOTAL OF PREVIOUS AUTHORIZED CHANGE ORDERS: CURRENT CONTRACT AMOUNT: ([1]+[2]) PROPOSED CHANGE ORDER: (PENDING APPROVAL) PROPOSED REVISED CONTRACT AMOUNT: (PENDING APPROVAL) ([3]+[4]) NET OF ALL CHANGE ORDERS: (PENDING APPROVAL) ([2]+[4]) (\$24,124. TIME EXTENSION OR REDUCTION: N/A TOTAL CONTRACT TIME: (PENDING APPROVAL) BUDGET ESTIMATE: \$225,000.	[1] - [2] - [3] - [4] - [5]	\$225,000.00 \$0.00 \$225,000.00 (\$24,124.44)
TOTAL OF PREVIOUS AUTHORIZED CHANGE ORDERS: CURRENT CONTRACT AMOUNT: ([1]+[2]) PROPOSED CHANGE ORDER: (PENDING APPROVAL) PROPOSED REVISED CONTRACT AMOUNT: (PENDING APPROVAL) ([3]+[4]) NET OF ALL CHANGE ORDERS: (PENDING APPROVAL) ([2]+[4]) (\$24,124. TIME EXTENSION OR REDUCTION: TOTAL CONTRACT TIME: (PENDING APPROVAL) BUDGET ESTIMATE: \$225,000.	[2] [3] [4] [5]	\$0.00 \$225,000.00 (\$24,124.44)
CURRENT CONTRACT AMOUNT: ([1]+[2]) PROPOSED CHANGE ORDER: (PENDING APPROVAL) PROPOSED REVISED CONTRACT AMOUNT: (PENDING APPROVAL) ([3]+[4]) NET OF ALL CHANGE ORDERS: (PENDING APPROVAL) ([2]+[4]) (\$24,124. TIME EXTENSION OR REDUCTION: N/A TOTAL CONTRACT TIME: (PENDING APPROVAL) N/A BUDGET ESTIMATE: \$225,000.	[3] [4] [5]	\$225,000.00 (\$24,124.44)
PROPOSED CHANGE ORDER: (PENDING APPROVAL) PROPOSED REVISED CONTRACT AMOUNT: (PENDING APPROVAL) ([3]+[4]) NET OF ALL CHANGE ORDERS: (PENDING APPROVAL) ([2]+[4]) (\$24,124. TIME EXTENSION OR REDUCTION: N/A TOTAL CONTRACT TIME: (PENDING APPROVAL) N/A BUDGET ESTIMATE: \$225,000.	[4] [5]	(\$24,124.44)
PROPOSED REVISED CONTRACT AMOUNT: (PENDING APPROVAL) ([3]+[4]) NET OF ALL CHANGE ORDERS: (PENDING APPROVAL) ([2]+[4]) (\$24,124. TIME EXTENSION OR REDUCTION: N/A TOTAL CONTRACT TIME: (PENDING APPROVAL) N/A BUDGET ESTIMATE: \$225,000.	[5]	
NET OF ALL CHANGE ORDERS: (PENDING APPROVAL) ([2]+[4]) (\$24,124. TIME EXTENSION OR REDUCTION: N/A TOTAL CONTRACT TIME: (PENDING APPROVAL) N/A BUDGET ESTIMATE: \$225,000.	_	\$200,875.56
TIME EXTENSION OR REDUCTION: N/A TOTAL CONTRACT TIME: (PENDING APPROVAL) BUDGET ESTIMATE: \$225,000.	44)	
TOTAL CONTRACT TIME: (PENDING APPROVAL) N/A \$225,000.		
BUDGET ESTIMATE: \$225,000.		
TAICINICEDIC COTINANTE		
INCINICIPIE FOTIMATE	.00	
(1982년) 전 1987년 1987년 - 1987년		
RECOMMENDED FOR ACCEPTANCE: Contractor	chaus deran	2 6 6 Date Date



C.O. #1 AND FINAL FY 2016 DRIVEWAY APRON, CURB AND SIDEWALK RESTORATION PROGRAM

11/23/2016

	Original Quantity.		OIIII FIICE	i otali	Add or Deduct	Total Price
NOI	- 3	EACH	\$500.00	\$500.00	7-	-\$500.00
	10	CAL DAY	\$100.00	\$1,000.00	-10	-\$1,000.00
1	0	SQ YD	\$72.00	\$0.00	0	\$0.00
	300	SQ YD	\$72.00	\$21,600.00	-181.9	-\$13,096.80
PCC DRIVEWAY PVT REM & REPL (6	525	SQ YD	\$63.00	\$33,075.00	-287.9	-\$18,137.70
PCC DRIVEWAY PVT REM & REPL (8	200	SQ YD	\$45.00	\$9,000.00	-178.9	-\$8,050.50
	14650	SQ FT	\$6.83	\$100,059.50	5146.1	\$35,147.86
	0	SQ FT	\$13.00	\$0.00	0	\$0.00
	300	SQ FT	\$5.50	\$1,650.00	-300	-\$1.650.00
	2115	FOOT	\$23.00	\$48,633.50	-579.1	-813 319 30
	55	FOOT	\$24.00	\$1,308.00	14	-\$984.00
	200	SQ FT	\$16.00	\$3.200.00	130	CO 080 C\$
	C S	FOCE	6	(C)	C.	
	300	1007	96.00	\$30.00	00-	-\$50.00
	200	01 De	90.00	00.000,14	-300	-\$1,500.00
	30	SQ YD	\$3.00	\$90.00	-30	-\$90.00
	100	SQ FT	\$15.00	\$1,500.00	-100	-\$1,500.00
	4	EACH	\$100.00	\$400.00	ကု	-\$300.00
	50	CU YD	\$27.00	\$1,350.00	-50	-\$1,350.00
	20	CU YD	\$1.00	\$20.00	-20	-\$20.00
	0	SQ YD	\$70.00	\$0.00	0	\$0.00
	50	TON	\$1.00	\$50.00	-50	-\$50.00
	14	EACH	\$1.00	\$14.00	-14	-\$14.00
	0	CU YD	\$5.00	\$0.00	0	\$0.00
	0	SQ YD	\$10.00	\$0.00	26	\$260.00
				\$225,000.00 CO #1 Total	CO #1 Total	-\$24,124.44

Strada Construction Co.

1742 W. Armitage Court Addison, IL 60101 630-627-3800 630-627-3819 Fax

FAX COVER SHEET

Date: Nov 15 2016

ATT: Ray Hoving Village of Lombard 2016 sidewalk, curb, apron restoration.

Pricing for topsoil, seed and blanket are as followed. \$10.00 per sy.
Thank you.
Tony Dipaola.